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works out 21 + 7 by fairly sharing out 21 counters into 7 boxes.
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Complete the divide diagrams and facts below.

12+4= ..
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2. Ralphie works out 12 = 3 by fairly sharing out 12 counters into 3 boxes.

(a)

He counts as he places the counters in each box.

12 counters fairly shared out into 3 boxes makes 4 counters in each box.

CREE

EERE

e
e

12+3=4

Complete the divide diagrams and facts below.
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3. Rudi works out 20 + 5 by fairly sharing out 20 counters into 5 boxes.
He counts as he places the counters in each box.

20 counters fairly shared out into 5 boxes makes 4 counters in each box.

Complete the divide diagrams and facts below.

’ 20+5=4
ﬁ)

§D
-

R
R
o
R
EEE

(a)

2|z
akglke

D0
L
RS
g
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2
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15+3=..

12=+-6= ..

ﬁ) ﬁ) ﬁ) ﬁ) 8+8=..
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